Trying a Better Fit Using the BRTW.C Macro(For the No Multiplicity Case)
1. The original BRTW.C Macro uses D0Mass = 1.86044. I changed it with the value in Particle Data Booklet (1.86486). The following is a plot with the fit from the mass modified macro.
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The mass in Real data appears to be shifted towards a lower value.

BRTW.C macro uses 

if (reject && x[0] > par[1] - 3*par[2] && x[0] < par[1] + 3*par[2]) {TF1::RejectPoint(); return res;}
to eliminate the background fit in the signal region. It thus takes average of backgrounds on both sides of the signal and subtracts it off from the mass histogram. 

2. Original Fit
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In the plot below I widened the width of the signal region by changing the above line to 

3. if (reject && x[0] > par[1] - 2*par[2] && x[0] < par[1] + 2*par[2]) {TF1::RejectPoint(); return res;}
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4. if (reject && x[0] > par[1] – 1.5*par[2] && x[0] < par[1] + 1.5*par[2]) {TF1::RejectPoint(); return res;}
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5. if (reject && x[0] > par[1] – 3.5*par[2] && x[0] < par[1] + 3.5*par[2]) {TF1::RejectPoint(); return res;}
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